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39- Thisbook’s story is..... on the real events during the
imposed war.

1) produced  2) based 3) depended  4) dealt
40- He calculated the number of pens, pencils and note
books....... by the students.

1)using 2) use 3) used 4) to use
41- The explosion...... the building and it has to be
reconstructed.

1) damaged  2) heated 3) warmed 4) lit
42- Scientists use light years to..... the distances in the
space.

1) carry 2) travel 3) take 4) measure
43- Extreme heat and light is...... to human being's eyes.

1) damaging 2) unhealthy

3) useful 4) necessary

44- Our T.V wasout of...... so we couldn’t watch the film
onT.V.

1) work 2) function  3) use 4) order
45- | turned too...... pulling out and knocked against the
gate.

1) fast 2) sharply

3) suddenly 4) hard
46- Driving too fast and not observing rules will ...... in
tragic accidents.

1) Cause 2) lead

3) result 4) happen

47- 1f you want to take thistablet, you haveto.... it in the
water.

1) solve 2) use

3) disturb 4) dissolve
48- The election of the new president...... the power
balancein our country.

1) quit 2) interfered
3) disturbed 4) absorbed
49- ... theway, | had to ask a policeman for direction.
1) knowing 2)don’t know
3) not knowing 4) know
50- ... the exam, students put their pens on the desk
and left the class.
1) finished 2) finishing
3) have finished 4) having finished
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